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GEWAPEND BETON 3D

Betonspanning is totale spanning min staalspanning.

Oxx —Px fy Oxy Oxz

Gyy —Py Ty

| Oxz Ovyz Oz =Pz fy_

- p IS wapeningspercentage in de x-, y- of z-richting.
- Aangenomen is dat de wapening vioeit.
- Als drukwapening dan vervang — door +.

Betonhoofdspanningen mogen niet groter dan 0 zijn
omdat het beton misschien gescheurd is
(krimpscheuren)

G1, Op, 63<0

Bezwijken op druk treedt niet op als
01 B O3 <1
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Twee manieren:

1. Wij kiezen de wapening en de computer
berekent de unity checks.

2. De computer berekent de minimaal
benodigde wapeningspercentages
en wij kiezen wapening die daaraan voldoet.
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Methode 1

Zie oude tentamens.
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Methode 2
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Reinforced solid

From Wikipedia, the free encyclopedia
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Main page In solid mechanics, a reinforced solid is a brittle material
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Featured content application is reinforced concrete. When the concrete
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Random article ) )

. ! the concrete but by the steel reinforcing bars only. The
Donate to Wikipedia
Wikipedia store reinforced concrete will continue to carry the load provided

that sufficient reinforcement is present. A typical design
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About Wikipedia can carry the stresses on a small cube (Fig. 1) This can be ki
. - - Figure 1: Small cube of a material &
unity formulated as an optimization problem. ; ; ) -
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Contact page TS (U] crack is removed to show the
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Download as POF The reinforcement is directed in the x, v and z direction. The reinforcement ratio is defined in a

Printable version cross-section of a reinforcing bar as the reinforcement area A, over the total area 4. which is the
Languages o brittle material area plus the reinforcement area.
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